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QUESTION 1

Click the Exhibit button.

10.0.0.0/8

Which well-known community needs to be used to restrict 10.0.0.0/8 from being advertised to AS 2?
A. no-publish

B. no-advertise

C. no-export-subconfed

D. no-export

Correct Answer: D

QUESTION 2

Which BGP message type contains NLRI information?
A. notification

B. keepalive

C. update

D. open

Correct Answer: C

QUESTION 3
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You want to view the VLANS that have been created dynamically using MVRP. Which operational mode command will
display this information?

A. show mvrp registration-state

B. show mvrp dynamic-vlan-memberships
C. show mvrp interface

D. show mvrp applicant-state

Correct Answer: B

QUESTION 4

You have configured CoS on a Junos device. A packet is classified as best effort by a behavior aggregate (BA)
classifier, and as expedited forwarding by a multifield (MF) classifier.

Which statement is true in this scenario?

A. The packet will be placed in a queue associated with the BA classifier.

B. The packet will be placed into the queue which is least congested.

C. The packet will be placed into the queue that has the most bandwidth assigned to it.
D. The packet will be placed in a queue associated with the MF classifier.

Correct Answer: A

QUESTION 5

You are implementing a single spanning tree instance in your network and want to use the protocol that will give you the
best convergence time in the event of a physical network failure of the root bridge.

Which spanning tree protocol will satisfy this requirement?
A. RSTP

B. STP

C. MSTP

D. VSTP

Correct Answer: A
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